Math 1300  Section 2.5

Section 2.5: Parallel and Perpendicular Lines

Two lines with slopes my and mp are parallel if and only if my, = mp b\ =b2’
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Example 1:
If you have aline with slope -2; -
Any linethat is pardlél to thisline has slope: 2

-

Any linethat is perpendicular to thislinehasdope: \-2. ) ~. -'i

If you have aline with slope 7; _l

Any linethat is pardlé to thisline has slope: .
-4
Any line that is perpendicular to thisline has slope: ___ 7

If you have aline with slope 4/9;
Any linethat isparalel tothislinehasslope: _ g~ .

P

Any linethat is perpendicular to thisline hasslope:—_” .

Example 2: State whether the following lines are paralld, perpendicular, neither or the same.
y=-5x 88 =D \i mxth
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Example 3: State whether the following lines are paraIIeI perpendicular, neither or the same.

y=dx+4 m,= I_\ \3 &_C\D‘mx*
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xample 4. State whether the following lines are parall€l, perpendicular, neither or the same.
3x+2y =6 3))(1“2\/:6 "65‘ L\‘{ -\
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Example 5: State whether the following lines are parallel, perpendicul ar, neither or the same.

10y — 5x = 15 \0‘\_5)(:\5 _SX’r\O1‘-q
5x + 10y = —9 3% £ Y “OX
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v g
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Example 6: Write the equation of allne in slopell%cept form that passes through the poi nl((:l)) -2) andis
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Example 7: Write the equation of aline in slope-intercept form that passes through (2, -6) and is
perpendicular to theliney — 4x = =2. \1

_ L
~ly=-2 = (2 -6
Ry Poic - 4

ror L
(B2 prenbe IR
Y- (Q: \—b( ’b ‘t”'LY*——Q_'Z

+r6= “““W(‘b qu -y 4l-2

Example 8: Find the equation of the line that pass&sthrough the point (]37 -3) and is perpeadiciilacto fh?n—
linex= 4
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Example 9: 9. Write the equation in standard form for the line that passes through the point
(2, 2) and isparald to the graph of theline4x - 5y = -12.
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